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Área	de	un	polígono	usando	las	coordenadas	de	sus	vértices.	
Tenemos	que	fijar	los	puntos	de	cada	vértice	en	las	coordenadas,	(en	mi	caso	poniendo	
punto	1	punto	2	punto	3)	y	los	valores	de	“x”	y	“y”…	
	
	
	
	
	
	
	
	
	
	
	
	
Después	de	saber	esto,	tendremos	que	ponerlos	en	la	tabla	de	valor	absoluto	y	duplicar	el	
primer	valor…		
	
	

	
	
	
	

	
	
	
Luego	de	esto	multiplicaremos	los	valores	en	diagonales,	una	diagonal	con	positivos	y	una	
diagonal	con	negativos		
	
	
	
	
	

	
	
	
	

	
Y	quedaría	asi:				A=	½		+(9	-	12	+	8)	–	(-9	-12	-8)		
	
Simplificamos…																							½			(5)						-						(-29)		
	
																																																						½			+5	+29	=	½				34					y	esto	ya	quedaría	como	34/2	=	17u2	
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Y	17u2	quedaría	
como	el	área	del	
polígono	


